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1 What may be the effects of managing human resources in the same way as all the other resources used by a business? (3)

2 Identify three important features of the job of a human resource manager. (3)

3 How could an increase in labour productivity help a firm to reduce its costs per unit? (3)

4 In what ways could a hotel business benefit if labour turnover rose from 2 to 15 per cent per year? (4)

5 Some fast food outlets have labour turnover as high as 100 per cent per year. What could be the effects of this on the firm? (4)

6 Explain two ways in which a human resources manager may be able to help increase productivity at a clothes shop. (8)

1 Evaluate the ways in which a firm may respond to an increasing rate of labour turnover. In your answer, refer to one retail business and one other organisation you have researched. (20)
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The higher the figure the
higher the productivity (and
therefore the lower the
labour cost per unit).

The higher the figure the
greater the threat to the
culture, the efficiency and
the consistency of the
customer expefience.

The higher the figure the
better, though ‘new blood”
can inject new creativity — so
100% retention is unlikely to
be successful for long.

Absenteeism implies
something voluntary. A
brilliant employee with
elderly, sickly parents may
have high absence levels,
but still be invaluable.

Boosting productivity requires
involved, motivated staff plus heavy
investment in new technology, training
and R&D.

When recruiting it's vital to get staff
who fit the culture and the ambitions
of the workplace; otherwise they
leave before they settle in.

To avold established staff leaving,
Job enrichment and fair treatment are
key (in effect, bosses should follow
Herzberg's two-factor theory).

It could be argued that this is an
old-fashioned measure. The key is
whether an employee does thelr job
well; if someone works twelve-hour
days for a week and then takes a day
off, are they really ‘absent'?




